TSR SRR

ONDOEUT T DINER
= G
S A e | smar [PEH R e
(B/A)
NSCFFR 185 |¥a A ilsebk 7 39 (26)] 5.6
/N ER 185 |¥a A lsebk 7 39 (26)] 5.6
PR E B BGE INFRE = — A VN 40 [FaEBgk 20 82 (B9 4.1
/N ER 40 |[#RE TSR 20 82 (59| 4.1
RN - E - 345 [fREMERE 30 95 (45)] 3.2
/N ER 345 [ llEetL 30 95 (45)] 3.2
B AR 60 |#AG s 5 9 @ 1.8
HIEREE S AT DRV R 30 [ieA Mgk 4 9 | 2.3
- EE 4 |MAH 4 7 O 1.8
/N ER 94 |#REHER K 13 25 3] 1.9
B T 22 90 |¥a A lsebk 6 16 3| 2.7
AR TR 80 |#AG gk 8 9 o 1.1
i AR 90 [aalligk 8 5 3)| 06
%%%%l#ﬂ 80 |#AG gk 8 14 m|l 1.8
HIRETE LR 80 |¥a A ilsebk 6 13 ml 2.2
BNET AL TR 55 [#aA sk 3 9 5)| 3.0
?Ef;%fﬁiﬁiiﬂ 55 [#aA Mgk 5 9 @l 1.8
s 530 [#aElEetL 44 75 an| 1.7
[EIBSHR A [EISH A ﬂ%ﬂ 100 |¥a /e bk 10 30 @2n] 3.0
s 100 |#a /e bk 10 30 2] 3.0
B 1,294 [#aARER 124 346 7| 2.8
& & 124] 346  (171)] 2.8

1y




